
z=cosa+isina
z^n=1
cosan+isinan=1=|1|(cosb+isinb)=cosb+isinb
b=0

an=b+2Pk
a=(b+2Pk)/n

z_k=cosa+isina=cos[(b+2Pk)/n]+isin[(b+2Pk)/n]=
=cos[(2Pk)/n]+isin[(2Pk)/n]

z_k^s=cos[(s2Pk)/n]+isin[(s2Pk)/n]

если s кратно n, ----------n
то cos[(s2Pk)/n]=1,sin[(s2Pk)/n]=0
сумма равна n

если s не кратно n --------0
n=5 
z_1^s+z_2^s+z_3^s+z_4^s+z_5^s=cos0+isin0+cos(s2P/5)+sin(s2P/5)+cos(s4P/5)+i*sin(s4P/5)+cos(s6P/5)+
+i*sin(s6P/5)+cos(s8P/5)+i*sin(s8P/5)=cos0+cos(s2P/5)+cos(s4P/5)+cos(s6P/5)+cos(s8P/5)+
+i*(sin0+sin(s2P/5)+sin(s4P/5)++sin(s6P/5)+sin(s8P/5))
cosx+cos2x+...+cos(n-1)x+cosnx=sin(nx/2)*cos(x(n+1)/2)/sin(x/2)
cos(s2P/5)+cos(s4P/5)+cos(s6P/5)+cos(s8P/5)+cos(10Ps/5)=sin(5s2P/5*2)*cos(s2P6/5*2)/sin(2Ps/5*2)=0
x=2Ps/5
cosx+cos2x+...+cos(n-1)x+cosnx=sin(nx/2)*cos(x(n+1)/2)/sin(x/2)

sinx+sin2x+...+sin(n-1)x+sinnx=sin(nx/2)*sin(x(n+1)/2)/sin(x/2)
(sin(s2P/5)+sin(s4P/5)++sin(s6P/5)+sin(s8P/5)+sin(10P/5))=0+sin(Ps)*sin(x(n+1)/2)/sin(x/2)=0
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